MINIMAL WEIGHT EXPANSIONS IN SOME PISOT BASES
CHRISTIANE FROUGNY AND WOLFGANG STEINER

ABSTRACT. For numeration systems representing real numbers and integers, which
are based on Pisot numbers, we study expansions with signed digits which are mini-
mal with respect to the absolute sum of digits. It is proved that these expansions are
recognizable by a finite automaton if the base 3 is the root of a polynomial whose
(integer) coefficients satisfy a certain condition (D). When § is the Golden Ratio or
the Tribonacci number, the automaton is given explicitly.

1. INTRODUCTION

Let A be a set of (integer) digits and = = x;-- -z, be a word in A*. The absolute
sum of digits of x is |[x|| = Y77_, |z;|. The Hamming weight of x is the number of
non-zero digits in x. Of course, when A C {—1,0,1}, the two definitions coincide.

Expansions of minimal weight in integer bases 3 have been studied extensively.
When 3 = 2, it is known since Booth [5] and Reitwiesner [18] how to obtain such an
expansion with the digit set {—1,0,1}. The well-known non-adjacent form (NAF) is
a particular expansion of minimal weight with the property that the non-zero digits
are isolated. It has many applications to cryptography, see in particular [15, 13, 16].
Other expansions of minimal weight in integer base are studied in [9, 11]. Ergodic
properties of signed binary expansions are established in [6].

Recently, the investigation of minimal weight expansions has been extended to the
Fibonacci numeration system by Heuberger [10], who gave an equivalent to the NAF.

In this paper, we study expansions in a real base 3 > 1 which is not an integer. These
expansions have been introduced by Rényi [19] and studied initially by Parry [17]. Any
number z in [0,1) has a so-called greedy [(-expansion given by the [-transformation
73, which relies on a greedy algorithm: let 75(z) = Bz — |8z] and define, for j > 1,
x; = LﬁTg_l(Z)J. Then 2 = Y .., 2;07/, where the z;’s are integer digits in the
canonical alphabet Ag = {0,1,...,|3]}. We write z = .zj25---. By shifting, any
non-negative real number has a ($-expansion. If there exists a k such that z; = 0 for
all j > k, the expansion is said to be finite and we write z = .x12g « - - 7. s

Denote Ag = {—[5],...,| ]} the symmetrized alphabet. A word x = xy - - -z, € Ag*
is said to be (-heavy if it is not minimal in weight for the absolute sum of digits
function, more precisely, if there exists y =y, - - -y, € Ag* with £ < 1,r > n, such that

dowB =) yf and Y lyl <Dl
j=1 j=£ j=t Jj=1

We will say that the word y is 3-lighter than x. A word - --yo.y1 - - -y, is called a
signed (B-expansion of minimal weight of the real number z if z = Z;ZZ y; 077 and if
Yo+ Yoy - - - Y 1S not [B-heavy. We will identify vy, - - - yo-y1-- -y and yo---yoy1 - - - y»r

—~=

whenever the position of the “decimal point” plays no role. A word z;---z, € Ag*
1
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is said to be strictly B-heavy if it is G-heavy and if z;---2,_1 and x5 - -z, are not
(-heavy.

In the following, we restrict our attention to bases [ satisfying the (dominance)
condition
B> 1 and P(f) = 0 for some polynomial
P(X)=X?— b X1 — X472 — .o — by € Z[X] with by > 37, |by],

which was introduced in [2] in connection with questions related to finiteness properties
of Pisot numbers, see [8, 12, 1]. Note that every polynomial P(X) of this form has a
root 3 > 1 except for the trivial cases X —1 and X2 —2X +1, and it can be shown that
every such number [ is necessarily a Pisot number, that is to say, an algebraic integer
such that all the other roots of its minimal polynomial are in modulus less than one.

(D):

Example 1.1. Here are two classes of numbers 3 satisfying (D):
(1) If1 = taty -ty = %+-~-+g—’,’; with integers t; >ty > --- > t,, > 1, then the
corresponding polynomial is P(X) = (X™ —t; X" 1 =, X2 .. —¢, )(X —1).
(2) If 1 = taty - - -t (ting1)” With ¢y > t9 > -+ > t,, >ty > 1, then 5 is a root
Of P(X) = (Xm+1 — thm — s — tm+1) — (Xm — thm—l — s — tm)

Recall that the set of (greedy) [-expansions is recognizable by a finite automaton
when (3 is a Pisot number [4]. In this work, we show that the set of S-heavy words
is recognized by a finite automaton if 3 satisfies (D), and thus that the set of signed
(-expansions of minimal weight is recognized by a finite automaton.

We then consider particular bases that have been extensively studied from various
points of view. When f is the Golden Ratio, we construct a transducer that gives, for
a strictly g-heavy word as input, a g-lighter word as output. From this transducer, we
derive the minimal automaton recognizing the set of signed [-expansions of minimal
weight. We give a transformation on some interval which provides a signed 3-expansion
of minimal weight of a given real number. By using this transformation, we show that
the expected number of non-zero digits in an expansion of minimal weight of length n
is n/5. Note that the corresponding value in base 2 expansions is n/3, see [3, 6]. We
also extend the results to the representation of integers in the Fibonacci numeration
system.

Finally, we obtain similar results for the case where (3 is the so-called Tribonacci
number, that is to say the dominant root of the polynomial X3 — X? — X — 1, and
extend the results to the Tribonacci numeration system for the integers. In this case,
the expected number of non-zero digits in a signed [-expansion of minimal weight of
length n is n3°/(6° + 1) = 0.282n.

We have put in the Appendix some proofs which are too long to be included in this
extended abstract.

2. REDUNDANCY AUTOMATON

All the automata considered in this paper process words from left to right, that is
to say, most significant digit first.
Let 8 > 1 be a real number, ¢ > |3] a fixed integer, and
Zg(c) = {21 e 2 ‘ n>1, |z <e, Zz]ﬂ_j = 0}.

j=1
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We recall a result from [7].

Theorem 2.1. If § is a Pisot number, then for every ¢ > || the set Zg(c) is recog-
nized by a finite automaton.

For convenience, we quickly explain the construction of the automaton Ag(c) which
recognizes Zg(c). The states of Ag(c) are 0 and all s € Z[8] N (—3%, 357) which are
accessible from 0 by paths consisting of transitions s = s with e € {—c,...,c} such
that s’ = Bs+ e. The state 0 is both initial and terminal. When ( is a Pisot number,
then the set of states is finite.

Note that the automaton Az(c) is symmetric, meaning that if s = s’ is a transition,

then —s % —s' is also a transition, where & denotes the signed digit (—e). The
automaton Ag(c) is accessible and co-accessible.

From this result one can define the redundancy automaton (or transducer) Rg(A)
with respect to an alphabet A of integer digits. Write A — A = {—¢,...,c}. Each

e . . oLt a,b .
transition s — s’ of Ag(c) is replaced in Rz(A) by a set of transitions s @) o , with
alb
(a,b) € A?> and a — b = e. As usual, we use the notation s Py
Proposition 2.2. The redundancy automaton Rg(A) recognizes the set

n>1, Zx]ﬂ_j = Zy]ﬂ_j}.
j=1

j=1

{(x1-~-xn,y1-~-yn) e A" x A*

If B is a Pisot number, then Rg(A) is finite.

From the redundancy automaton Rg(A), one constructs another automaton 7z(A)
with states of the form (s,d), where s is a state of Rg(A) and ¢ € Z. Transitions are

of the form (s, J) K (s/,0")if s M ¢ is a transition in Rp(A) and ' = §+1b| — |a|. The
initial state is (0,0), and terminal states are of the form (0,d) with § < 0. Of course,
this automaton 73(A) is not finite.

Proposition 2.3. The automaton T3(A) recognizes the set

{(m1~-~xn,y1--~yn) € A*x A*

n n n n

n2 LS a0 =Yy and Yl < 3l )
j=1 j=1 j=1 j=1

3. THE GENERAL CASE

From now on A = Ag, thus ¢ = 2|3]. For shortness, Ag(c) is denoted Ag, Rs(A) is
denoted Rz, and 75(A) is denoted 73. Furthermore, we will say that a word is heavy
if it is B-heavy and the base [ is clear.

The following result is shown implicitly in the proof of Theorem 4 in [2].

Proposition 3.1. Let (8 satisfy (D), and xy---x, € Z* such that | }37_ x;677] < 1.
Then there exists a word yo---Yym € Ap* such that 337" jy;877 = 30 ;877 and
> s lysl < 3700 |l

This result implies that, if a word w is heavy, then for any words u and v, uwwv is
heavy as well. So, to prove that the the set of heavy words is recognized by a finite

automaton, it is sufficient to build a finite automaton that recognizes a set K of heavy
words such that any heavy word contains a factor belonging to K.
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Theorem 3.2. If (3 satisfies (D), then the set of B-heavy words is recognized by a finite
automaton.

Proof. Let xq---x, be a heavy word. Then there exists a word y,- -y, € /Al;* with
¢ <1andr>mnsuchthat Y70 2,677 =377 ,y;877 and Y77, |y;| < D77, |25]. Set
zj=0for je{¢...,r}\{L,...,n}. In the automaton 7, there is a path composed

zjly;

of transitions of the form (s;_1,d;_1) =" (s;,0;) for £ < j <r with s,_; =0, 6,1 =0,
s, = 0, 6, < 0. Furthermore, we have s, = Z?:e(%‘ —y) BT =3y — ) B
forall k, ¢ <k <.

The rest of the proof consists in showing that only a finite part of the automaton
75 is needed, i.e., that only states (s,d) with a bounded ¢ play a role, because a path
of transitions as above passing by a ¢ of large absolute value implies that already a
suffix or a prefix of z1 - - - x,, is heavy.

Assume first 6, > 2|3]p for some k > p, where p is the length of the shortest path
from 0 to s in Ag. Let ay---a, € {=2|3],...,2[F]}* be the label of such a path,
thus sy = >°F_; a;8777. Since 6, < 0, we have D77, (Jy;| — [z;]) < =2[3]p. If we set
yllc—p-i-l Y= (xk—p+1 —ay) () — ap)yk+1 -+ -, then

D UBT =y s = Za T 3 (g — )BT = B+ sy

j=k—p+1 j=k—p+1 j=k+1
and Yyl - Yl <Z|a]\+ > (yil = l=) < 2(8)p — 2(8]p = 0.
j=k—p+1 j=k—p+1 j=k+1

Note that y; need not be in Ag. By Proposition 3.1, there exists y" = y;_,---yy, € Ag”
with Z] =k— py” = Z; —k—p+1 y]ﬂ 7 and Z] —k— p‘y | < Z;:k—p-‘rl |y;]. Hence y"
lighter than x;_p41---2,, and 1 - - - x, has a proper heavy suffix.

Let P, be the maximal length of a shortest path from 0 to s in Ag. If we assume,
w.l.o.g., that y,---y, is of minimal weight, then we have §; < 2|3|P; for all j < 0.
Therefore the condition k > p in the preceding paragraph is satisfied if d; > 3| 3| P;.

Assume now 0, < —2|3]p for some k < n — p, where p is the length of the shortest
path from s; to 0 in Ag, and let a; ---a, be the label of such a path, i.e., BPs; +

il b ;P77 =0. If we set y,- “Ypap = Yo Yk(Thyr — ar) -+ (Tryp — ap), then

k+p k+p k

Zyjﬁ I Z%ﬁ T= g - - Zlajﬁ—’“—j = 5,07+ s =

j=t

k-i—p k+p k p
and Y il = lal <O (gl = el + D lagl < 6k +218]p < 0.
j=t Jj=1 j=t j=1

As above, Proposition 3.1 provides a word y” which is lighter than x; - - - z44,,.

Let P, be the maximal length of a shortest path from s to 0 in Ag. If §; < —3| 5| P,
for some j < n, then we have some k < n— P, such that d;, < —2|(3]| P, and we obtain
that x; - - -z, contains a proper heavy prefix. Since ¢, < J; for all j > n, we obtain
the same result if §; < —3| 3] P, for some j > n.



MINIMAL WEIGHT EXPANSIONS IN SOME PISOT BASES 5

Note that in each state (0,0) there is a loop labelled (a, a) for any a € Az. We claim
that the finite subautomaton F of 73 restricted to states (s,0) with —3|G] P, < 0 <
2| 8] Py recognizes as inputs all heavy words: take a heavy word w and suppose that
it is not the input of a path in F. It is the input of a path in 73, and so there exists
on that path a state (s,n), with n € {=3|3] P, ...,2|3]P1}. As we have seen above,
w has a proper prefix or a proper suffix w’ which is heavy. The construction can be
repeated on w’, which is a shorter word, so it stops with a factor of w which is the
input of a path in F. Using the loops labelled by (a,a) in each state (0, d), the word
w is the input of a path in F. O

We recall a general construction which provides Corollary 3.4.
Lemma 3.3. Let H C A* and let M = A*\ A*HA*. If H is rational, then so is M.

Proof. Suppose that H is recognized by a finite automaton H. Let P be the set of
strict prefixes of H. We construct the minimal automaton M of M as follows. The
set of states of M is the quotient P/= where p = ¢ if p and ¢ arrive at the same set of
states in H. Since H is finite, P/= is finite. Transitions are defined as follows. Let a
be in A. There is a transition p % ¢ if pa is in P and ¢ = [pa]=, or if pa is not in P,
p = wv with v in P maximal in length, and ¢ = [v]=. Every state is terminal. 0

Corollary 3.4. If § satisfies (D), then the set of signed [(-expansions of minimal
weight is recognized by a finite automaton.

4. THE GOLDEN RATIO CASE

In this section we give explicit constructions for the case where ( is the Golden
Ratio 1+—2\/5 We have 1 = .11, hence the condition of Example 1.1 (1) is satisfied, and

Ay =1{-1,0,1}.

1+/5
5

4.1. Signed (-expansions of minimal weight for 3 =

Proposition 4.1. Let § = 1+—2‘/5 Then the set of strictly B-heavy words is

H = 1(0100)*1 U 1(0100)*0101 U 1(0010)*1 U 1(0010)*01
U 1(0100)*1 U 1(0100)*0101 U 1(0010)*1 U 1(0010)*01.

Proof. Every word x € H is the input of a path (with plain arrows) labelled by x|y
which is recognized by the automaton Sg in Figure 1, which is a part of 73. If the path
starts in (0,0) and ends in (0, —1), we obtain therefore immediately that z is heavy
since y is lighter than z. Otherwise, extending the path by dashed arrows provides a
word which is lighter than z.

For showing that all other heavy words contain a factor in H, we consider paths in 73
such that the input and the output contain no factor in H, since we may assume that
the output is a signed (-expansion of minimal weight. The lexicographically maximal
word for the input and the output is thus 1(0100)%, and it suffices to consider states
(s5,0) with |s| < 2 x .1(0100)* = 4/4/5 < 2. The transitions in 73 are given by the
redundancy automaton Rg restricted to states s with |s| < 2, see Figure 2.
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0 0
1)0 1)0
01 01
(07_1><-____ (_1/B7_2> (1//67_2) _____ 07_1

FIGURE 1. Automaton Sg of strictly heavy words for 5 =

1+5
-

i1 o|o 11
1]0,0/1 0|1,1[0

1]0,0[1
1|1 0/0,1]1 10,0 QP 0l1,1/0 1|1 0l0, 1/1

—1/B
|1 1/0
. 111, 0/0, m\ 1[1,00, 11 / i
1 N ,00,1]1 \jll ,0]0, V I
YT 1]0,0|1 N
—p /B 1/8 B

1|0 01

— 1 —
0[1,1]0 Y 1/0,0/T

o 0

1/0,0]1 0]1,1j0

FIGURE 2. Redundancy automaton Rz with states |s| < 2 for § = %

A path in 73 corresponding to a strictly heavy word never passes a state (0, d) with
0 > 0, since if there is a path of the form

(0,0) ™ (0,8) ™% (0,9
with ¢’ < 0, then there exists a path
(0,0) % (0,0) "% (0,6 — 5)

where v and v/, resp. v and v, are words of same length. Thus v is a heavy suffix of
wv. Similarly, it is not necessary to consider non-trivial paths from (0,0) to (0, 0).
Now consider the outgoing transitions from the state (1,0) which occur in Rg.

13, The only prolongation of ik avoiding the factors 11 and 11 in the input and

. 0[0 .
ouput is —|>, but if we have a path

u|u ’Ul’U
(0,0) % (1,0) 5 (—1/5%,0) 2 (~1/8,0) ™% (0.9),
with § < 0, then there exists as well a path
u|u i|0 'Ul'U
(0,0) ™% (0,0) %5 (~1,-1) 5 (~1/8,0) ™% (0,0),
hence 10v is a heavy suffix of ul0v. Therefore a path corresponding to a strictly

B (=1/82,0).

heavy word cannot contain the transition (1,0) —
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%, Similarly, (1,0) a (1/8,1) is useless, since the prolongation 19 Jeads to (0,0)
and 2 leads to (1,1), which can be reached from (0,0) by the transition %,

—: The only prolongation of (1,0) o (6,0) avoiding two consecutive non-zero

digits is ik (1/6,0). Since we have a path (0,0) all (1,1) 19 (1/53,0), this

. ... 00, o
means that the outgoing transition — is useless. In general, it is not necessary
. . 11 11 .. 00 .
to consider the transitions — and — if — is useless.

=

: The only outgoing transition from (1,0) which can occur in a path in 73 cor-

. . . 1]0 . . .
responding to a strictly heavy word is K (which is present in Sg).

Every assertion made above is of course valid for the symmetric paths. For the other
states in Sg, a similar (but less involved) reasoning can be done to show that Sg
contains all possible transitions for strictly heavy words.

Finally note that no word in H contains another word in H as a factor. Therefore
H contains exactly the strictly heavy words. 0

Using the construction given in the proof of Lemma 3.3, with H being the input
automaton of Sg, we obtain the following result.

Theorem 4.2. If = 1+2\/5) then the set of signed (3-expansions of minimal weight is

recognized by the finite automaton Mg of Figure 3 where all states are terminal.

1+v5

FIGURE 3. Automaton Mgy of signed (-expansions of minimal weight, 8 = —5

4.2. Weight of the expansions. In order to determine the expected weight of a
signed (3-expansion of minimal weight, we consider expansions of a particular shape,
similar to the NAF in base 2.

Proposition 4.3. If § = ‘/52“, then every y € Z[F] has a unique expansion in ;lvﬁ*
avoiding the factors 11, 11, 101, 101, 1001 and their opposites. This expansion is a

signed 3-expansion of minimal weight.

Proof. To see that every y € Z[3] has such an expansion, note first that it was shown
in [8] that the (greedy) B-expansion of every (positive) y € Z[f] is finite. Remark that
the lexicographically maximal sequence satisfying the desired conditions is (100)“ and
that .(100)* = 3/2. Therefore, we define a transformation

T B/2,8/2) — [-B/2,8/), () = P — Lo+ 1/2],
and set y, = |71 (y) +1/2] for k > 1if y € [-3/2,8/2), i.e., y = yryg---. If

yr = 1 for some k > 1, then we obtain 7%(y) € [g — 1,% —1) = [%,%), hence
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Ukpr = 0, TF(y) € [;—ﬁl, 3), hence yppo = 0, and 7°*2(y) € [-1/2,3/2), hence
Yr+s € {0,1}. This shows that the given factors are avoided. A similar argument for
yr = —1 shows that the opposites are avoided as well. If m € Z is chosen such that
y € [-4™T1/2, 3™ %1 /2), then an expansion of y is obtained by shifting the expansion
of yB~™. The expansion has minimal weight since it contains no strictly heavy factor.

If we choose y; = 0 in case 787 (y) > 1/2 = .(010)*, then it is impossible to avoid
the factors 11 and 101 in the following. If we choose y;, = 1 in case 757 (y) < 1/2, then
B y) —1 < —1/(28?) = .0(001)“, and thus it is impossible to avoid the factors 11,
101, 1001, 11 and 101. Since 7%7(y) # 1/2 for y € Z[3] and similar relations hold for
the opposites, the expansion is unique. O

Remark. Heuberger [10] excluded (for the Fibonacci number system) the factor 1001
instead of 1001. Then the lexicographically maximal sequence is (1000)“ and a similar
reasoning can be done with the transformation 7(z) = fz— L%x—i—ﬂ on [6_2—?:1’ ﬁzﬁ—il)
Note that 3%/(6 + 1) = .(1000).

Let 7(z) = fx— |+ 1/2] as in the preceding proof and define sets Iogg = [%, #),
Toor = [5535) \ dooos Lo = [ 3) \ (oo U Toor), I =[5, 5) U [3, 5), which form a
partition of 2 = [—3/2, 3/2). Define a sequence of random variables (X} )g>0 by

Pr[Xo =jo, . Xp=ji] = AX{z € Q: v € L, 7(x) € L;,...,™(x) € I;,})/3

for all jo---j, € {000,001,01,1}*! where X denotes the Lebesgue measure. Since
7(I;) is a union of sets I; for all j € {000,001, 01,1}, we have that 77*(I;) is a union
of disjoint sets of measure A\(/;)/3, each of which is contained in one /;. This implies

MLy 0= B0, )N (1)
AZjp 0= EED(, )
)\(T_(k_l)(]jk ) N T_k(]j ))
p— -1 pu— P X pu— 1 X _ f— y _
A(r=E=D(1;, ) [ Xk = Jk | Xp—1 = Jr]
(whenever the first probability is defined), hence the sequence is a Markov chain. Since
Pr[Xk = Jk ‘ Xp-1= jk_l] - )\(Ijk—l N T_l(]jk>)/>‘(]jk—1> - Pr[Xl = Jk | Xo = jk—l]a

the Markov chain is homogeneous and its matrix of transition probabilities is

Pr(Xy = ji | Xio1 = Ji—1,. .-, Xo = Jo] =

1/ 1/ 0 0
| | 0 0 10
(Pr[Xy = J | Xi—1 =1])ijeqo00,001,01,1} = 0 0 0 1

2/82 1/8° 0 0
The stationary distribution vector (given by the left eigenvector to the eigenvalue 1
of the matrix) is (2/5,1/5,1/5,1/5). Since the k-th digit of x is non-zero if and only
if T#=1(z) is in I, the expected number of non-zero digits in a signed (-expansion of
minimal weight of length n is given by S"p—) Pr[X; = 1] = n/5 + O(1).

4.3. Fibonacci numeration system. The reader is referred to [14, Chapter 7] for
definitions on numeration systems defined by a sequence of integers. Recall that
the linear numeration system canonically associated with the Golden Ratio is the
Fibonacci (or Zeckendorf) numeration system defined by the sequence of Fibonacci
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numbers F' = (F},),>0 with F,, = F,,_1 + F,_2, Fy = 1 and F; = 2. Any non-negative
integer N < F,, can be represented as N = Z?zlijn_j with the property that
xy -z, € {0,1}* does not contain the factor 11. We call a word z; - - - z,, € {—1,0,1}"

F-heavy if there exists a word yg - - -y, € {—1,0,1}* with £ < 1 such that

S aiFy =S yFay and 3yl < 3l
j=1 j=t j=t j=1

An important difference to the definition of S-heaviness is that the indices of y cannot
exceed n. The properties F-lighter and signed F'-expansion of minimal weight are
defined similarly to the properties for 5. Although the Fibonacci numeration system
and (-expansions are slightly different, we obtain the following theorem.

Theorem 4.4. The set of signed F-expansions of minimal weight is equal to the set
of signed (-expansions of minimal weight for 3 = @

Proof. Let z1-+- 2, € {=2,...,2}  and set y = 37, 2,7, N = 37", 2z;F, ;. By
using the equations 3% = g¥~'+ 32 and F}, = F},_, + F,_», we obtain integers mg and
my such that y = m18+mg and N = mi Fy +moFy = 2mq+mg. Clearly, y = 0 implies
my1 = mg = 0 and thus N = 0, but the converse is not true, since N = 0 only implies
mo = —2my. This means that the redundancy automaton Rp contains Rg (and
possibly some other states), and the main difference is that a sequence (z, yx)1<k<n
is accepted not only if it ends in state 0, but also if it ends in a state m3 — 2m; =
—my /3% Tt can be easily shown that the only possibilities for m; # 0 are &1 if
212y €{=2,..., 2}

By adding the transition ™ from (1,—1) to the terminal state (1/3% —1) (and its
opposite), it can be deduced that all S-heavy words are F-heavy as well (see the
Appendix).

The proof that no other F-heavy words exist runs along the same lines as the
proof for B-heavy words. We have to consider a redundancy automaton with states s
satisfying |s| < 4/v/5+1/8% < 2+ 1/32, but the states |s| > 3 play no role, as in Sg.
This shows that the F-heavy words are exactly the S-heavy words. O

5. TRIBONACCI CASE

In this section, let 3 be the Tribonacci number, 32 = 32 + 3+ 1 (3 ~ 1.839). Since
1 = .111, the condition of Example 1.1 (1) is satisfied, and Ag = {—1,0, 1}.

5.1. Heavy words. It is convenient to determine first particular signed 3-expansions
of minimal weight. Then it suffices to consider these words as outputs of Sg since
every heavy word can be transformed into a lighter word of this type.

Proposition 5.1. If 5 > 1 is the Tribonacci number, then everyy € Z[5) has a unique
expansion avoiding the factors 11, 11, 101 and their opposites. This expansion is of
minimal weight.

The lexicographically maximal word avoiding these factors is (10)¥, and .(10)* =
(3%/(3* 4+ 1). The expansion in Proposition 5.1 is provided by the transformation

e 0 J i vt S |

F+1 B+l 41 B+l 25 ‘ol
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0/
D R G
1)1 00 110
1
(-1-1/82,—2 )<0|—0(1/52 -1,-2) (1-8,- o ~1/
1j0 1j0
0[0
0[0 Qe =~(/5 )
,/0/|E) \\\\ -
s, —3)"015*(1/@—3)
1]0 1]0
(+1/82, 72)<0|—0(1 -1/82,-2)  (B-1,-2
11 /0|O' 1/0

FIGURE 4. Automaton Sg of strictly heavy words for the Tribonacci number.

The proofs of Proposition 5.1 and Theorem 5.2 are similar to the proofs for the
Golden Ratio case and therefore omitted (see the Appendix).

Theorem 5.2. If 3 is the Tribonacci number, then the strictly 3-heavy words are ex-
actly the inputs of the automaton Sg in Figure 4. The signed 3-expansions of minimal
weight are given by the automaton Mg in Figure 5 where all states are terminal.

5.2. Weight of the expansions. As for the Golden Ratio, we determine the expected
number of non-zero digits by an appropriate Markov chain. A particular signed (-
expansion of minimal weight is given by Proposition 5.1. Therefore we define sets

— [ =t 1 B B _[=8* =B B B2 ;
Ioo = [W’ W)’ In = [@7 m) \Ioo, L = [gzﬂ, gzﬂ) U [gzﬂ, ﬁzﬂ) and obtain
a Markov chain with transition probabilities

18 1-1/8 0
(Pr[Xy =7 | Xk—1 = 1])ijef00,01,1) = 0 0 1
1-1/8% 1/ 0
The stationary distribution vector of the Markov chain is (B;strﬁf , B?il’ ﬁ?il ), hence the
expected number of non-zero digits in a signed (-expansion of minimal weight of length
n is asymptotically n33/(3° + 1) (with 33/(3° + 1) = .(0011010100)* ~ 0.28219).
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FIGURE 5. Automaton Mg of signed [(-expansions of minimal weight
for the Tribonacci number.

5.3. Tribonacci numeration system. The linear numeration system canonically
associated with the Tribonacci number is the Tribonacci numeration system defined
by the sequence T' = (T,),>0 with Ty = 1, Ty = 2, To = 4 and

Ty=T 1 +Th 2+ T3

Any non-negative integer N < 7T, has a representation N = Z;L:lij n—; with the
property that x;---z, € {0,1}* does not contain the factor 111. The properties 7'-
heavy, T-lighter and signed T -expansion of minimal weight are defined analogously to
the Fibonacci numeration system.

Theorem 5.3. The signed T-expansions of minimal weight are recognized by the au-
tomaton in Figure 5 where only the states with a dashed outgoing arrow are terminal.

Proof. Similarly to the Golden Ratio case, two words representing the same number as
a [-expansion with the Tribonacci number 3, represent the same number in the Tri-
bonacci numeration system. More precisely, if y = > 77, 2;8" 7 and N = 37, T,

for some word zy---z, € {—2,...,2}*, then we have integers mg, my, my such that
Yy =maf? +mif + mg and N = moTs +my Ty + moTy = 4msy + 2my + mg. Therefore
we have N = 0 if and only if my = —2m(, and m; = —2ms + my,, hence

y = my(B% —28) + my(B — 2) = my/B* +my/B*  for some integers my, m.

It can be shown that all S-heavy words are T-heavy as well (see the Appendix).
Therefore the signed T-expansions of minimal weight are a subset of the words which
are recognized by Mg in Figure 5. The shortest words ending in states without
dashed outgoing arrow are T-heavy because of the following T-lighter words (or their
opposites).

(1)11 — (1)01, (1)110 — (1)010, (1)1101 — (1)0100

The difference of the corresponding (-expansions is either +1/3% 41/33 or +(1/3% +
1//3%). By construction (cf. the proof of Lemma 3.3), all other words ending in these
states are T-heavy as well.

The proof that no other words are T-heavy runs again along the same lines as for
[B-heavy words. O
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APPENDIX
Lemma 5.4. If § satisfies (D), then [ is a Pisot number.
Proof. Tt is easy to see (e.g. by multiplying both sides with 5 — 1) that
l=.bi—1)(by+by—1)---(by +ba+---+bsi—y —1)(by + bo+-- -+ by — 1)~
is an expansion of 1 in base # with non-negative digits. We have
(X =0y X b X2 by 1 X —by) = (X = B) (X 4 m X2 g 1 X +71y)
with r; = .b;bj41 -+ - by, and

d d b
Z; Iel Z Bi—it1
=

=]

d
Jj=2
d

i = (ol - 1bal)(1Bs] 4 -+ [Bal) - - (1bat| + [bal) (bl

IN
™M=
2|
s
| <

J=2 i=j
< o(br = 1)(by — |bo| = 1)+ (b1 — |bo] — -+ = [bg—1] — 1)
< b= D)(br4by— 1) (br+by+ -+ bas — 1)
<1

We have equality everywhere if and only if b; < 0 for all j € {2,3,...,d} and by =
2?22 |bj| + 1. In this case,

1:.t1t2"'td_1:.(bl—1)(61+b2—1)"'(bl+b2+"'+bd_1—1)

with t; >ty > -+ > t;_1, and it is well known that ( is a Pisot number.
If 2?22 |7;] < 1, then

d d
2 > il = frllalt Y > et g
j=2 j=2
for all x with |z| > 1. Therefore, all conjugates of 3 lie inside the unit circle. O

Lemma 5.5. If a word is B-heavy for § = @, then it is F'-heavy.

Proof. Let x =x1---x, € fTﬁ* be (-heavy. Then the following situations can occur:

e If x contains a factor 11 (and 11 respectively), then 0z contains a factor 011
or 111 (and 011 or 111 respectively), hence x is F-heavy.

e If z contains a factor 11 (and 11 respectively), then z contains either a factor
110 or 110, or the z; are alternately 1 and 1. Since Fy — Fy = Fp, @ is F-heavy.

e If 2 contains no two consecutive non-zero digits and z,---z,, 1 < <r <mn,is
a strictly B-heavy factor of z, then 0z - -- 2,0 is a factor of 0z. Sg provides a
[-lighter word of the same length as 0z, - - - 2,0, hence z is F-heavy.

e If 2z contains no two consecutive non-zero digits and z,---2,, 1 < £ < n, is a
strictly 5-heavy factor of z, then Sg provides a word which is F-lighter than
0z¢- - - z, if we add the transition (1, —1) 0 (1/3%, —1) and its opposite, since
(£1/3%,—1) are terminal states. O
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Proof of Proposition 5.1. The proof of the existence and the uniqueness of an expan-
sion avoiding the factors 11, 11, 101 and their opposites is exactly as the proof of
Proposition 4.3. It remains to show that the weight of these expansions is minimal.
Suppose that there exist a path in 73, where the input is a strictly heavy word
avoiding the given factors (prolongated possibly by zeros) and the output is a lighter
word (which we may assume of minimal weight). All factors of the input are lexi-
cographically less than (10)“, and all factors of the output are lexicographically less
than 11(010)“, since we can exclude the heavy words given by Figure 4. Therefore it

is sufficient to consider states in 75 with |s| < .(10)“ +.11(010)“ < g.

1o

Suppose that the first transition is (0,0) — (1, —1). A possible prolongation is

BB -1,00% (1+1/8,0) % (8- 1,0),

10 (

0,00 2 (1, -1)

but this cannot provide a strictly heavy input because of the path (0,0) o (1,1) il
(8 —1,0). The only possible branching in the above path provides

0,008 1, - L B-1,0%1/81)% a1

with a € {0,1}. If a = 0, then we have the shortcut (0,0) — ox (1,1). If a = 1 and 0111v

is lighter than 1001w, then 20 is lighter than 1u (and 2v can be transformed into a
word on Ag* by Proposition 3.1), hence 1001w is not strictly heavy.

Now consider the transition (0,0) — oan (—1,1) and look at

0/1 Varen 10 l|i 0|1
—(0——CY @—*Mﬂ—w
V Nﬁ N} 0lo
DR CETD = 0

The branch ending in (—1—1/03, 2) has no prolongation since 1101 is heavy. The other
branches need not be continued by the same reasons as in the preceding paragraph.
All other transitions can be excluded easily, and the Proposition is proved. 0

Proof of Theorem 5.2. We proceed similarly to the proof of Theorem 4.2. Suppose that
we have a strictly heavy word, which is not recognized by Sg in Figure 4. Therefore
there exists a path in 73 with this word as input and a word of minimal weight as
output. By Proposition 5.1, we may assume that the output avoids the factors 11,
11, 101 and their opposites. The factors of the input are lexicographically less than
11(010)“. Therefore, it is sufficient to consider states (s,0) with |s| < [, as in the
previous proof.

We can exclude |s|] =1 + 1/6, 6 = 0, since the only p0551ble prolongations are

(1+1/6,0) 5 (1-1/5°,0) % (1+1/5, )and(1+1/ﬁ,) S (1-1/6%0) 5 (1/5, -1).

In the second case, the incoming transition must be —>, hence we have the shortcut
0,00 L3110 1 /5, 1),

It can be easily verified that no transitions from the states (—1,1), (1 — 3,0),
(_1/67 _1>7 (_]—7 _1>7 (1 - 67 _2)7 (1/637 _1>7 (]'/ﬁ‘3 - 1/67 _2> (and their OppOSiteS)
than those which are present in the transducer of Figure 4 can occur. For the other
states, consider the following facts:
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0l1 1/0 0j0 0y 0l oj1 10 0 1/8,-1).
Since 1(010)*011 is heavy, we have no transition from (1/3—1, —2) with input 1.
Since 1(010)*11 is heavy, we have no transition from (1/4%—1, —2) with input 1.

(1/p*>-1,-1) — o (—1/3%,—1) is cut short by (0,0) — 1|01\1 = o9 119 o8 )" o
(=1/8, —1) )
o (—1— 1/62 —2) — i (—1—-1/32—1/3* —3) must be followed by the transition 1
because —3—1/8—1/3% = —2—1/73, but this means that the input contains a

(heavy) factori(om)*on. Similarly, (—1-1/3?, —2) 2>

(-1-1/8°~1/p% ~1)
is impossible because the output must not contain 11.
Since 1(010)*011 is heavy, we have no transition from (1/3% — 1/3,—2) with
input 1. 0

Lemma 5.6. If a word is B-heavy for the Tribonacci number 3, then it is T-heavy.

Proof. Let x = x1---x, € :4;* be a (-heavy word. The following situations can occur:

If x contains the factor 111 (and 111 respectively), then Ox contains 0111 or
1111 (and 0111 or 1111 respectively), hence z is T-heavy.

;From now on, suppose that x does not contain the factors 111 and 111. Let
o -z, 1 <€ <1 < n, be a strictly g-heavy factor of x. If the correspond-
ing path in Sg runs from (0,0) to (0, —2), then the output y,- - -y, provides
immediately a T-lighter word. If the path runs from (—1,1) to (0,—2), then
Tewerr = 11, hence x,_ 1 € {0,1} and @ -2 o(xp 1 + 1)ye- - Yppy1 -+ Ty 18
a T-lighter word.

Suppose that the path ends in (1/8%,—3) and n — r < 7. Then we obtain a
T-lighter word by adding the following transitions. For ¢ = 1 and n = r, add
(B-1,-2) 2 (1/8 - 1,-2). Since 1/5 -1 = —1/52 1/, this state is
terminal. For i =2, n =r — 1, add (1/3?, —3) > (1/8—1,-2). Fori = 3,
n=r—2 add (1/6%-3) 8% (1/58 - 1,-2), (1/8% -3) 2 (1/8 — 1, -4) and
(1-p5,-2)— i (1/6 —1,—-2). In the other cases, nothing has to be done.
Suppose that the path ends in (1/8%,—3) and n —r > 4. If x,.; € {0,1},
then we obtain immediately a T-lighter word. If z,,; = 1, then we obtain a
lighter word xq -+ 2p_oyp 1+ Y1021 1 -+ Tpyi 12T 4441 - - T, (0on the alpha-
bet {—1,0,1,2}).

We distinguish two cases. If z,.; 1 # 1 (ori=1) and n —r — i > 3, then
we add 12001 at the appropriate place such that the 2 vanishes. Now we have
a immediately a T-lighter word if x, ;13 # 1. f .y, 1 =1landn—r—1i>1,
then we add 1111 such that 12 becomes 01. (Note that x,,;_» # 1 since we
have exluded the factor 111.) Hence we have a T-lighter word if 2,1 # 1.

Both operations do not increase the weight of the word and create at most one
new 2 (or 2) at a position j which is closer to the end of the word. Therefore we
can iterate this procedure until we have found a word on the alphabet {1,0, 1},
or until n — j < 3 in case that 2 is not preceded by 1 (or that 2 is not preceded
by 1), n = j else. In every case, we obtain easily a word avoiding 2 and 2
without increasing the weight. 0



